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01 Ktoré z uvedených slov má podobný význam ako slovo DIFFICULT? (2b) 

A bad  B easy  C wrong D hard 

02 Ktoré z uvedených slov má opačný význam ako slovo HIGH?   (2b) 

A low  B new  C near  D weak 

03 Tri z uvedených slov svojím významom logicky patria k sebe. Ktoré k nim 

nepatrí?          (2b) 

A picture B map  C drawing D painting 

04 Tri z uvedených slov svojím významom logicky patria k sebe. Ktoré k nim 

nepatrí?          (2b) 
A end  B finish C stop  D get 

05 Tri z uvedených slov svojím významom logicky patria k sebe. Ktoré k nim 

nepatrí?          (2b) 
A good-looking B attractive C noisy D handsome 

06 Ktoré z uvedených zvierat je domáce?      (2b) 

A wolf  B bear  C cow  D mouse 

07 V ktorej z uvedených možností je nesprávne utvorené množné číslo?  (2b) 

A potatoes B wifes C ladies D boxes 

08 Ktoré z uvedených slov je príslovka?      (2b) 

A hard  B free  C important D sensitive 

09 Ktoré z uvedených prídavných mien je nesprávne vystupňované?  (2b) 

A early earlier   the earliest      

B interesting more interesting the most interesting     

C bad  badder   the baddest    

D good better   the best     

10 Ktoré z uvedených slov možno doplniť do medzery vo vete?   (2b) 

Veta: Apples are healthier ............. sweets. 

A as   B than   C from   D to 

11 Ktorú dvojicu zámen možno doplniť do medzier vo vete?   (2b) 

Veta: That´s ............. problem, not ................... . 

A yours/my  B your/mine  C his/myself  D them/his 

12 Ako sa slovami zapíše rok 1889?       (2b) 

A eighteen eighty-nine 

B eighteenth eighty- nine 

C eighty eighteen-nine 

D eighty eighty-ninth 

13 Ktoré z uvedených slov možno doplniť do medzery vo vete?   (2b) 

Veta: I didn´t know .................. at the party. 

A somebody  B something  C anybody  D some 

14 Ktorú dvojicu slovies možno doplniť do medzier vo vete?   (2b) 

Veta: I would like ............... the film and you can .............. with me. 

A to see/going  B seeing/going C see/goes  D to see/go 

15 Ktorú dvojicu slov možno doplniť do medzier vo vete?    (2b) 

Veta: If she studies ................., she´ll pass the exam ................. . 

A hard/easiest  B hardest/easier C hard/easily  D hardly/easily 
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16 Ktorá z viet má správny slovosled?      (2b) 

A The new film we yet haven’t seen.    

B We yet haven’t seen the new film. 

C We haven’t seen the new film yet. 

D The new film we yet haven’t seen. 

17 Ktorú dvojicu predložiek možno doplniť do medzier vo vete?   (2b) 

Veta: He is travelling to Prague …………… 11.30 …………… January 21st. 

A at/on B at/in  C on/in D in/on 

18 Ktoré z uvedených slov možno doplniť do medzery vo vete?   (2b) 

Veta: On Mondays Annie goes ………. school ………. train. 

A in/on B at/by  C to/by D to/on 

19 Ktorú z uvedených predložiek možno doplniť do medzery vo vete?  (2b) 

Veta: The book was written ………. J. R. R. Tolkien ………. 1932. 

A by/in B from/on C by/at  D with/at 

20 Ktorá z otázok má správny slovosled?      (2b) 

A Where she is now going?   C Where is she going now? 

B Now she is going where?   D She is going now where? 

21 Ktoré z uvedených slovies možno doplniť do medzery vo vete?   (3b) 

Veta: Yesterday we …………… finish our biology project. 

A must to B mustn’t C had to D doesn’t have to 

22 Ktorú dvojicu slovies možno doplniť do medzier vo vete?   (3b) 

Veta: Mr.Smith usually ………. to work but today he ………. . 

A is walking/drive   C is walking/is driving 

B walks/drives   D walks/is driving 

23 Ktorá z viet nevyjadruje budúcnosť?      (3b) 

A I will come on Tuesday. 

B Patrick drinks tea every day.  

C It’s going to snow tomorrow.  

D Good night. I’ll see you in the morning. 

24 Ktorú z uvedených častí textu možno doplniť do medzery vo vete?  (3b) 

Veta: What kind of bread ………………………… ? 

A do you eat 

B does you eat 

C you does eat  

D eat you like  

25 Ktorú dvojicu slovies možno doplniť do medzier vo vete?   (3b) 

Veta: While I ………….. a film, my brother ………….. . 

A watched/arrives    C watched/was arriving 

B were watching/arrive   D was watching/arrived 
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26 Ktoré sloveso možno doplniť do medzery vo vete?    (3b) 

Veta: If it’s sunny, we ………….. for a picnic. 

A go  B not go C will go D goes     

27 Ktorá z otázok je gramaticky správna?       (3b) 

A Where does your father works? 

B Where your father work? 

C Where your father works? 

D Where does your father work? 

28 V ktorej z viet je nesprávne vyjadrený zápor?     (3b) 

A He haven’t been to England yet. 

B My sister can’t cook. 

C She didn’t work for the same company. 

D I don’t have to wear a school uniform. 

29 Ktorá z viet je gramaticky správna?      (3b) 

A She doesn’t speaks German. 

B She speaks not German. 

C She not speak German. 

D She doesn’t speak German. 

30 Ktoré z uvedených slov možno doplniť do medzier vo vete?   (3b) 

Veta: Hamlet ……………… by William Shakespeare.  

A wrote B written C was written  D has written 

31 Aký člen má byť v medzere vo vete?      (3b) 

Veta: My father works as ………….. dentist.   

A -  B the  C an  D a 

32 Aký člen má byť v medzere vo vete?      (3b) 

Veta: Prešov is ………….. third biggest city in Slovakia. 

A the  B a  C an  D – 

33 Ktorý z uvedených členov možno doplniť do medzery vo vete?   (3b) 

Veta: Excuse me, what´s ………….. time? 

A a  B the  C -  D an 

34 Ktorá z uvedených viet by mohla byť odpoveďou na otázku: ”What would you 

like to do right now?”         (3b) 

A I like learning foreign languages.  

B I like visit my best friend. 

C Nothing. I’m tired. 

D I’m eating my dinner right now. 

35 Ktorá z viet by mohla byť odpoveďou na otázku: ”How is Jane?”  (3b) 

A She’s really nice. 

B She’s fine, thanks. 

C She’s tall and she’s got black hair. 

D She’s my best friend. 
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ČÍTANIE S POROZUMENÍM        (15b) 

Prečítajte si článok o fotografovi. K úlohám 36. - 43. zakrúžkujte správnu odpoveď A, B, C. 

Photographing animals 

Photographer James Warwick often visits Kenya and Namibia and has just returned from 

India. James didn`t find photography interesting when he was young, but on holiday in Africa 

during university, he decided on his future job. 
 

James has to get up early for most of his African pictures. He takes a few when the sun 

is going down, but in the afternoon the light is too strong. Being a photographer is hard work. 

Some photographers visit different places on one trip, but James prefers to stay in one place 

and learn all about it. 

He has some wonderful pictures of Indian tigers. Once, two tigers ran past him, 

stopped a metre away from his truck and began to fight. He was too afraid to photograph 

them. 

In Namibia, one lion came even closer. It went all the way round James`s truck 

checking for danger. Then it got up on the back and looked at him through the window. This 

was one of James`s happiest moments. 

James doesn`t use his flat in Britain much. He doesn`t mind living out of a suitcase, 

but he sometimes finds life hard without his friends. Money isn`t very important to him, but 

he likes travelling. His pictures make people think about animals in danger, from African 

elephants to British birds. This is what matters most to him. 

 

36. J. Warwick`s last trip was to ...   (1 b) 

A India. 

B Kenya. 

C Namibia. 

37. When did James choose to become a 

photographer?                                    (2b) 

A When he was a boy. 

B When he was a university student. 

C When he left university. 

38. In Africa, James takes most of his 

pictures                                               (2b) 

A in the morning. 

B in the afternoon. 

C in the evening. 

39. How is James different from some 

other photographers?                         (2b) 

A He works much harder. 

B He visits more countries. 

C He spends longer in one place. 

40. In India, why didn’t James 

photograph the two tigers together?    (2b) 

A They were too far away. 

B It was too dangerous. 

C He was inside his truck. 

41. In Namibia, what did the lion do first?                             

                                                              (2b) 

A It got up on the truck. 

B It stood and watched James. 

C It walked round the truck. 

42. James finds it difficult when he... (2b) 

A doesn`t see his friends. 

B cannot use his flat. 

C can`t work in Britain. 

43. For James, the most important thing 

about his work is ...                              (2b) 

A travelling round the world. 

B earning lots of money. 

C giving people information. 
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